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1. Chaice (60%)
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- Given an opportunity cost of 16 bleyries pet | sewing mackize m Ge

. 1 Papa’s Pizza Parlor knows that the marginal cost of the 500 nizza is 55,00 and that the avesage total eost of making

459 pizzas is $3.30, then

4. average costs are rising al Q = S0{

b, average costs are falling at Q=500
. total costs are falling at © = 300

4 average variable costs must be falling

& average variable costs must be rising

. In a perfictly competitive market aquilibrium,

a. eash firm's manginal cost is equal to the market price

b. each consumer's marginal utility is equal to the marke: price

¢, oach firm's marginal cost is equal to each consumers margingl wiility
d. price equals minimum marginal cost

e price equals miniou average total cost

- 1fa monopoly firm is continually earming above-nosmal profits, then

. the entry of new firms will veduce profits to normal in the long rus

b.  the profits may remain above-normal in the long run despite the eriry of new firg

¢ merket forces other than the entry of new firms wiil reduce profits to normal in the long run

d. falling market demand due to the firm's high prises will reduce profits o nermal in the long run
. barriers to entry may enable the profits to remain above-normal in the log,

A firm that sells its outpur and hires its labor in perfectly competitive markets

&, controls the price of its aurput, but accepts the wage rale it pays as given

b, controls both the price of its output and the waege rale Il pays

¢, controls the rate it pays, but accepts the price of its outpur as given

d. accepts both the price of its outpur and the WHge rate 1t favs us givea

& eontrols the price of its output, the wage rate it payy, and its own outpal leve)

A Pareto improvement .

2, cannot take place unless & wide pavient is made
b, cannct tale pluce uniess a market is perfectly counpetitive
€. ecannot oceur baless both parties to a transaction sujoy positive net benelits

d. will incrense the total ner benetits availahle in o perfectly compeiitive ma

@ ocours whenever the sum of market corsumer surpl and fyarket produser <

i positive

nany end 20 Bioyoles per 2 sewing machinesy in
Hungacy,

Ineither country has & comparative advantzge in the production of either goud,

Germany has a comparative advantage in the production of sewing machines,

Germany has an absolute advantage in the produstion of sewing i fines,

Hungary has an absolute advantage in the production of Licyales.

¢ Hungary produces more bicycles than Germany does,

& o P

If the prices of domestic consumer goods increased while the prices of inpored consumer goads decreased, ind the
demand for each remained the same, which of the tellowing would most likely cceus?
2, The GDP price index would decrease while the CPI would ineresse,
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b, Both the GDP price index and the CPI wouid decrease.
& The GDP price index would increase more than the CPIL
d. The CPlIwould increase more than the GDP price index.

EXGEH

€. Hoth the GDP price index and the CPI would increase by the same amaunt.

o

- Ifincome incresed by 520,000, povernment purchases urc fixed at $10,000, mvestment spending is fixed at §5,000,
net exports are fixed at $500, and aggregate expenditure increases oy $15.000, what is the marginal propensity 1o
cansume (MPCYY

a. D25
b, (75
¢ 033
d. 050
e 070

9. What must the change in taxes have been if GDP inerecsed by 5300 billion and the marginal propensity o
consumption s 0.87
& taxes must have increased by $60 billion
b taxes must have been decressed by $50 biliion
€. laxes must have been decreased by $73 billion
d. taxes must have been increased by 575 biltion
10, The demand deposit multiplier is likely to be smaller than 1/RER (Required Reserves Ratlos) if
4. the public will not want 1o change its holdings of currenay
b, the public holds no curmengy v
o banks want to hold excess reserves
d. want to hold no excess reserves

€. banks increase the number of loans they offer to make a lasger profit

- The natural rate of unemployment
8 isaspecific anemployment rate that can be & targe? for the Fed
b. changes as the inflation rate changes
¢ isnatural because it does not change from period 1o period
d.is a rneasure of the quality of the Fed's perfonmance
. changes as the efficiency of job searches change
2. Ifthe LS. inflation tate is 3 percent annuatly and the Swiss (nflation rate is 5 gersont aally, by vt percent would
the dollar price of francs need to change according to purchasing PO parity?
. Depreciate by § percent
b, Appreciate by 3 percent
. Appreciate by S percem
d. Depreciate by 2 percent
e Appreciate by 2 percent
13, A govermaent-imposed price ceiling sat below the market's quilibrivm price will creats an excess demand for a
product, As a result of the excess demand, sither the demand curve will tend 1o shitt to the lefi or the supply curve will
shift to the right-or hoth
4. True
b, False
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14, In the language of eeonomics, which of the fallowing would be defined as investmens?

AT

8, the purchase ofa LS. savings boad
b, the purchase of 100 shares of Ford Motor Comprny siock
& the deposit of §1,000 into a savings account
d. the purchase of $500 worth of gotd
. the accumulation of inventories by a firm
15, Which of the following would lead to a decrease in autc 1S consumption

a, o decrease in disposable income
b, aninerease in disposable income
€, aninerease in the interest rate
d. more optimistic expectations about future incore
€. an inerease in wealth
16. One of the major ressons why the US trade deficit with China s wrown in the last 10 years is that
4. the yuan is seriously undervelued relutive 1o where it would need to be 1o ond o a zero nude defieir,
b the yuan is seriously overvalued relative 1o where it would need to be to lead 1o & zero ade deficit,
€. cumency markets can never bring trade into balance, even in the fong run.
d. US productivity has fallen recently.
17. In a competitive market, when price is below the equilibrium level, the price will be driven upward due to
a,  oxcess supply
L. government intervention
€. competition among suppliers
d,  excess demand
. technical inefficiency

18, If demand is price elastic, a decrease in sollee’s total revenue would result from aln)

4. decrease in price

b increase in quantity demanded

¢, increase in price

d. decrease in income for an inferior good

€. increase in total cost to the seller
19, The percent changs in the quantity of one commodity demanded divided by I pervent change in the price of another
commodity is the

2. price elasticity of demand
b price elastivity of supply

. aneome elasticity of demaend
d. income elasticity of supply

€. cross-price elasticity of demand

20. Inferior goods typicully obey the law of demand because the substitution eftest tands to domsinate the weome effiect.
8. True
b. False
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1. Probiem (40%)

1. “Fiscal cliff” is the popular shorthand term used to deseribe the conundrum that the U.S. government will
face at the end of 2012, Plense explain what U.5. “Fiscal cliff” 15 and use 15-LM model w analyze the
effects in U.S, sconomy in 2013, {10 )

The Secend-Generation NHI (Nutional Health Insarance) (2 Fe5f45) levies additionn] supplementary
insurance on stock esroings, interest ewrnings and sarnings from reatals ete. from the beginning of 2013
in Taiwan. Please use loanable funds iheory to explain the effiects an interest rate, equilibrium of loanable
funds. In saddition, apply AD-AS (Aggregate Demand and Apgregate Supply} modet to snalyze the
effects on price level, and real GDP both in the shost-run and lojg-run, i TG% )

3. Bella is trying to decide whether to go to graduare schwol, If she spends two years in graduate schoal,
payiag $15,000 tnition each yeur, she will get a job that will pay 580,000 per year for the rest of her
working life. If she doesn’t go 10 graduate schood, she will go inta the workforce immediately. She will
then make $43,000 for the following thres years, and 580,000 per vear afier that, If the interest rate is
10%, is graduate schoo! a good finunsial investnent? (1e% |

4. Youare given $80 tu conswune both oranges and apples. The wtal utilities you get from consuming 1, 2, 3
and 4 apples are 100 + 180 ~ 240 » 270 respectively, The twtel wilities you get from consuming 2, 4; 6 and
8 oranges are 20~ 170 » 230 » 270 respectively, How 1o allocate your money on both goods? (10%) )
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